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B (—1) = (=D + (=) 1 (k — 1)’Crq + (=1)*2(k — 2)*C_2 = 0.
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Coe=—gmrrgoze
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00000O0000,00 [-1,1]000000000000000000000000
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de*  dx* dr  Tomaw — Tomin AT Dfac%

0000000000000, 000 Dfee = (Zmaz — Tmin)/2 000. 00000,00000
00oo

*
a17$n1am ﬁ
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’ Dy dx + 00,00, /(1) ’
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o119’ (1) + ag16(1)

=a (k4 (k—1)2Cr_1 + (k — 2)?Ch_2) + g1 (1 + Cp_1 + Cp_) = 0,
061,—1@5/(_1) + 040,—1¢<_1)

= a1 [(=1)" R+ (=DFE - 1)2Cry + (=D Ek — 2)2Ch )

a4 [(=DF + (=)0, + (=1)"2C, ] = 0,

(ca)lan)-(5)

gogbooboood

ooo
a = 04171(]€ — 1)2 —+ 040’1
b = OéLl(k’ — 2)2 + 06071
c = 0517,1(16 — 1)2 — (p,—1
d = —0417,1(16 — 2)2 + Qp, —1
= —(041’1]62 + 040’1)
fo= —(—041,—17€2 + ag—1)-
goodood

(c,H)_ I (—d —b)(e)_ 1 (de—bf)
Crs )] ad—bc\ —c¢ a f) ad—bc\ —ce+af )’

goboobbooboooboboboOobOoooboOobobooboO,k=200000000
gogbobobooggb.bobooogboobogo

¢2($> = OlTI(l’) + C()T()(ZE)

ooobobobogoooooooo. o,y boobobobobooooobooo
gogb,tddd «s=100000000

a11C1 + 01 (Cr+Cp) =0, (a1 + ap1)Cr + a91Cy =0,

goono
Ci=—-op1 Co=ou1+ o, (38)

ggbooboa.ggobo

¢2(.T) = —aglel(x) + (04171 + 0071)00710(23).
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gg,buogggbbobdao oobbbuoodan

Ag = —ag1, A2 =a11+ag; (39)
A =1, Ap1p=Cro1, Apop =Cro, (k>3). (40)

ggbooboogogobo.

3.3 Uuduuubuuoooououoboobbuouooooog
gd 2

3.3.1 0000000 0000 (DOOOOOOOD)

Ti(1) = cos0 = 1, Ti(—=1) = cosknr = (~1)* 0O0DO. OO0 Ty(l) = Ty(—1) =
1,Ty(1) = 1,Ty(-1)=—-100000,00000 0000000000000
00

¢a(w) = To(x) — To(x), ¢3(z) = T3(x) — Ti(x),
Gor(x) = Top(z) — To(z), Gokt1(2) = Topy1(x) — Th(z),
dr-1(r) = Tk_1(x) — Ti(z), ¢k (r) = Tx(x) — To(x).
gooodno KDDDDDDDDDDDDDD.DDDD(Ank)D
—1 0 -1 0 ... 0 -1
0 -1 0o -1 -1 0
1 0 0 0 0 0
0 1 0 0 0 0
~ 0 0 0 0 0 0
A,) = A1
(An) 0 0 1 0 0 0 (41)
0 0 0 1 0 0
0 0 0 0 0 0
0 0 0 0 1 0
0 0 0 0 0 1
godgooog
Al,k:_[l_(_1>k]/2 (k:27377K_1) (43)
Apr=1 (k=2,3,...,K) (44)
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3.3.2 0J000O0OOO0OO o000 (OOODOOODO)
goooobboob obbbooodgd
d
dij:O at r=-1,1 (45)
gooooon.
gogoooooobbobon
dT(z)  dTi(cosf)) (cosm#)  nsinnd (46)
dv do ~ (cosf)  sind
r=100000060—-00000000
dTy(x) ksink@ . ,sinnf 6 9
dz =1 0150 sind 550 k6 sin6 (47)
r=—-1000000 p=7—-6000000
dTy(z) . ksink(r—¢) . —kcoskmsinkp
lp=—1 = lim ——————— = lim _
dx v—0  sin(m — @) 90 sin ¢
ink
= lim(— )22 (g2, (48)
0 ne sing
ggobob,gogboboboooobbbooon
$o(z) = To(x),
¢3(x) = Ty(x) —3°Ti()
¢a(x) = Ti(z) — (4/2)"Ta(w)
gbzk_l(l’) = TQk_l(l’) - (2]{3 - 1)2T1($)

(bZk(l’) = TQk(x)—/{Z2T2(:L’)
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ggboboobogogboo

o o0 1 ... 0 0o ... 0 0
-3 0 -5 ... —2k-1)* 0 ... (K-1%* 0
0 —4> 0 0 —k? 0 (K/2)?
1 0 0 0 0 0 0
0o 1 0 0 0 0 0
A= 0o o 1 0 0 0 0
0o 0 0 1 0 0 0
0o 0 0 0 1 0 0
0o 0 0 0 0 0 0
0o 0 0 0 0 1 0
0 0 0 0 0 0 1
(49)
ooooooo
Ag2 =1, (50)
Ay = —[1 - (—1)"k?/2 (k=3,4,...,K—1) (51)
Agy = —[1 4 (—1)¥]k*/8 (k=3,4,...,K) (52)
Apr =1 (k=3,4,...,K) (53)

3.3.3 00000000 0,0000000 0000 (0000000,000
0oooo)

gboboobgoobgo,bobbo o, bobbooboob ooboobOn

_o | _
f(l) - 07 @ - O’ (54)

o=—1
ooooooo. k0oooo
or(x) = T (z) + C1Ti(x) + CoTh(x)
googo.gooooogo
(-1 =D R+ =0, (1) =1+C1+Cr =0,

Oooood
Ci=(-DF -k Co=(-DF" k-1
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00000000
On(2) = Ti(w) + (=1)° - K*T1(2) + [(=1)"*" - n® = 1Ty (). (55)

ggooobooon

Agp = [(=D)F k2 — 1] (n=23,...,K) (56)
Ay = (—1)F - k2 (n=23,...,K) (57)

334 0000000000 0,00000 0000 (000000,0000
0oooo)

af
dx

r=1

O0D00000. 00000 nO00D0O00
or(x) = Ti(x) + O Ty () + CoTy(2)
0DO0000.000000
op(—=1) = (=1)"=C,+Cy=0, ¢,(1)=k*+C, =0,

000000
Cy=—k? Cy=—k*+ (=1k!

o0o000000
br(z) = Tp(z) — n*Ty(z) + [—k* + (=1)" Ty (). (60)

gogboobooon

Agp = [k + (=1)FY (k=2,3,...,K) (61)
A= —K (k=2,3,...,K) (62)
A =1 (k=2,...,K) (63)
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34 0O00OO0OO0OOOOOOO

gbboobogo,boobboobboobboobbooboboooboon.
oooos

d
Q1,1 dj: . + ap, f(1) =0, (64)
d
OZ17_1 dil'. . + Oz07_1f(—1) = 0, (65)

odld oy D0000000. 0000000000 nO0O000
or(z) = Ti(x) + CiTi(z) + CoTo(z)
ogoooo.oooooo

01171(]{2 + 01) + Oég,l(l + Cl + Co) = 0,
a17_1[(—1)k+1k’2 + Cl] + CYO7_1[(—1)’C — 01 + Co] = O,

goodoood
Q11+ Qo1 Qo,1 Cy _ arg -k +
o1 —Qp—-1 Qp -1 Co a1 ()R 4+ ag g - (1) )
oo, 0oooooooooo ooood,douo

(061,1 +040,1)040,71 - (041,71 —060,71)040,1 = 01,-10¢0,1 —O1100,-1 —2040,—1040,1 7’é 0 (66)

googo o,y oooobobooon,

Ci\ _ 1 Q-1 —Qp1
Co (041,1 + ao,l)Oéo,—l — (CY1,—1 - 040,—1)040,1 —Qq,-1+ Qg1 11+ Qo
800 [Zmin, Tmee) 0000 f*(z*) 000000000

O‘l,zmax dr* + C“O,acmmf (xmaa:) — Y al,zmm do* + aO,zminf ("Emzn) — Y

T*=Tmin

.
T =Tmax

000ooO00ooo,oo [-4L,1)00000000000o0o00oooooOooooo

dft _dedf 2 df 1 df
dr* o dx* dx B Tmax — Tmin dx B Dfac dz

0000000000000, 000 Dfec = (Tmer —Tmin)/2000. 00000,00000
oood

af d ol . o d
1, Tmax i + as zmaxf(l) _ O7 1, Zmin 7f *
Dfac dx z—=1 ’ Dfac dx

gog.
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% ( Qg - k% + Qo1 )
1,1 (—1)k+1]€2 + ap,—1 ° (—1>k

1
B Q1 1001 — O110%0,—1 — 2Oéo,—loéo,l
% ( Oé07_1[01171 . k’z + 01071] — 04071[0417_1 . (—1)k+1k2 -+ Qp,—1 - (—1)k] )
(—aq,—1 +ap_1)(o, - k* + ap1) + (011 + apq)fag,—1 - (—1)k+1k2 + ap,—1 - (—1)k]

ggbooboogan

Ao = Co(k) (k=2,3,...,K) (67)
Ay = Cy (k) (k=2,3,...,K) (68)
Apr=1 (n=23,...,K) (69)

googobooobbooobooboobboobuooboobb. bboo
ggobbooooobobodo

p2(r) = C1Ti(x) + CoTo(x)

gboobobobooooooooo. g,y boobobobobooooooo
gob,0dd«=100000000

a11C1 + a1 (Cr+Co) =0, (11 + 01)Ch + ap1Cp = 0,

gogdno
Ci=—-ap1 Co=o01+ g, (70)

ggboobooa.ogobo

¢2(I‘) = —Oé()’lTl(l’) + (CY171 + Q0’1)00T0($).

n>20000000000 nOOO0OO
oo0ooo.oooooo

06171(]{2 -+ 402 + Cl) —+ 060’1(1 + CQ + 01) = O,
0617,1[<—1)k+1/{32 — 402 + Cl] + &07,1[(—1>k + 02 — Cl] = O,

ooooooond
doy + o a11 + Qo Cy ) _ ary - k2 + ag
—4041,—1 + o1 Q1,1 — Qo1 Cy ay 1 (—1)k+1k2 + ap,—1 - (—1)k ’
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Cy 1 d —b
c, ) ad—bc\ —¢ a

ooo
a = 4o+ ag;
b = a1+ agq
c = —doy 1+ oy
d = a1 —ap_1
= a1k + ooy
o= ai1- (=) +ag ;- (1)

gogooboggd

1210,2 = 1,1 + Qo (71)
Ay = —ag, (72)
Ay = Cy (k) (k=34,...,K) (73)
Ay = Cy(k) (k=3,4,...,K) (74)

Apr =1 (n=34,...,K) (75)

ggbobobogoobboboooobooboooobn.

ap=a1,1=0,a01 = =1000000000000000000. OO0

000000 ¢,C 0
G\ 11— (=1)}
Co ) 2\ 1+ (=1

a1 =ap_1=0,a1 =0, =100000000000,000000000
0000.00000000 O, Cy 0

(e )= (e ) = (i)
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app =011 =0, 1= =10000000000000000,00040
ooooooboob.oobobooobo O,Gy O

( gﬁ ) - ( 2 +k<2—1>’f )

a1 =o_1=1, a0, =0y, =000000000000000000. 000
00000 Cy,C;Da=4b=1c=-4d=1e=k f=(-1)""%200

()= =s (e ) = (hl G
gboogoooogd

goo.

4 OU000oOoOooooboooobooobbouoobn

4.1 000000000 DOOOO0O0ODOOOO0O00O00O0000000
gd . gg 1

nO0O0000
or(z) = Ti(z) + Cro1Ti—1(x) + Cr—aTk—2(z) + Cr—sTj—3(x) + Cr—sTi—s(z)

0000000000000 000000000000.0000,000000
00000000000000000 (A4,) O

A =1,
A1k = Crry Ap—2p = Ci—a, (76)
Ap—sp = Crsp,  Ap—ap = Ciu,

gogbooboooooo.
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4.1.1 DOO0O0O0ooOOOOoOd

gobbuooobbuooobbo. ogbbuooobbooob,ooobboo
ggobbuogoobobodo.oobo,

df

af af
d:px

_, dz

= 0. (77)

z=1

Pp(1) =1+ Croy1 + Cr—2 4+ Cr_3 + Cr—y = 0,

ox(=1) = (=1)*(1 = Ot + Chp = Ciy + Cia) = 0,
(
(

$e(1) =Ty + Ti_1Cr1 + Ti_5Choz + Tj_3Ch-3 + T _4Choa = 0,
Cb;c _1) = (_1)k(TIQ - Tlg—lok—l + Tlg—20k—2 - T,g_3C'k_3 + Tlg—40k—4) = 0.
T,
00O T,g:@ —4*000. 000000
or | _,
Ck-1=Cr3 =0,
T — Ty y 2(k —2)
R
k-2 1k—4 -
T, T, , k-1
O = T T hoy
k=2 k-4

4.1.2 DO0O0O0OO0OOOOOOOOOD

gbobogoboooboogbooo.bboobboobboob,od 20
ggbbobdug obobbuooodobobob.ooan,

d*f

da?

dgf
T oda?

f(1) = f(=1) =0, =0. (78)

r=—1 r=1

gogboobooooon,

(1) =14+ Cp1 + Cr—g + Cr_z + Cr_y = 0,

or(—1) = (=1)*(1 = C_1 + Cr—a — Ch_z + Cih_a) = 0,

) =T+ T Cr1+ T} sCrho+ T} 3Ck 3+ T} ,Cry =

H(=1) = (=DNTY = T, Croa + T yCho = Ti 3055 + Té’-40k74) =0
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ooo Ty =

4.1.3 0O

2 2
gi? :MDDD. 0oooooo
=1
Cro1 = Ci3 =0,
Cro = Tt ;
Ty, =Ty 4
Coy = T —T{
T o =Ty,

gogoboobogg,bboogaboon

gogobobbuodg,ggobboobbbouooobo. oooag,obbobogad
20000,000b00000 100000 oOcO0DOODLOODO.DbO0Ob,

goo. O

ERERE

&f

0
T dax?

r=1

1)

goood

Cio1 = —Ch_s,

Cro=—-Cj_y— 1,
1

Crs = R (The = Tio) (T = Tio) — (T3
1

Crg = E(Té_1 =T )Ty, — T} o) + (T}

af

~ dz!

—0. (79)

r=—1

(—1)*(1 = Cp1 + Cpp — Cp_3+ Cr_y) =0,
1) = T]g + T,i,’_le,l -+ T]i/_2ck,2 + T,é’_ng,g + T,g’_4Ck,4 =0,
—1) = (-D)¥T, =T} _Cr_1 + T} _oCho — Ty 3Ch_5+ T, ,Crs) =0,

o = T ) (T, — Ty ),

1 = T) (T = Ty ),

A= (Tlg—l - Tl;/—?))(TI::—Z - TI:;—4) + (TI:;—I - T,g_3)(T,;'_2 - Tl::/—4)

goo.
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4.1.4 0OO0O000O0,0000000000000

gogobobb,bugooobbbbbouoodob. oo, obbobobodao
lgodbo,bggagoboo 200000 obooobbobooo.oboo,

f=s-n=o, L -

dx a2
ogoooooooon,

=1
Pu(1) =1+ Cry + Ch—a + Ci—3 + C—4 = 0,
or(—1) = (=1)*(1 = Cp_1 + Ch_a — Ch_z + Ch_a) = 0,
$e(1) =Ty + T4 Cror + T;,yCha + Ty _3Ch3 + T;_4Choa = 0,
H(=1) = ()T} = T} Croy + Ty 5Chg — Ty sChs + T} 4Cr—s) = 0,
oo0o.o000o0o0
Ck*l = _Ckf?n
Cro=-Cra—1,

1
Crs = *<Tlé/72 - Tl;/f4>(Tli - T;Q,Q) - (TIQJ - TIQ74)(TIQ/ - TiéLz)a

= 0. (80)

r=—1

A
1
Cry = Z(Tlg—l - TIQI—S)(TI; - Tl::—Q) + (Tl::—l - Tli;—s)(Tlg - Té/—2)>
gog
A= (Tlg—l - Tl;—3)(TI:;/—2 - TI:;/—4) + (TI:;/—I - TI;/—3)(T1;—2 - Tl::—4)
goo.

4.2 JUOO0OO0O0O0OO0OOO0OOOOLOOObOOOOObLOoOoOoOLDd
oo - 0ofg 2

nUQOooon
(bk(l’) = Tk(Q?) + 03T3(LU) + CQTQ(LL’) + ClTl(JJ) + C()To(x)

0000000000000000000000000.0000,000000
00000000000000000 (A4,) O

Apr =1,
Az =C3, Ay = Cy, (81)
A =0C1, Ay = Co,

goooooogoon.
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4.2.1 DODOO0O0OO0OO0OOOO0OO0OO0

gobbuooobbuooobbo. ogbbuooobbooob,ooobboo

ggobbuogoobobodo.oobo,

af
dx

_d4f

= =0.
dz

r=1

f(1) = f(=1) =0,

r=-—1

<

B
—_

~—
I

( 1+C5+Co+Cr+Cy =0,
or(—1) = (-1)" = C3+ Cy — C1 + Cy = 0,
(1) = k* +9C3 +4Cy, + Oy = 0,

(1) = (=1)*E* +9C3 — 4Cy + C, = 0.

gboogod

4.2.2 DODUO0O0O0OO0OOOO0OOO0

(82)

gbbuogbbuooboboooboodo.bboobboobboob,od 20

gogboboobuog oobbooooboob.ooaon,

d*f d*f
)= f(-1) = — = — = 0.
R -
oooooo
¢k(1):1+03+02+01+00:0,
op(—1)=(=1)"—=C54+Cy —Cy +Cy =0,
2(1.2
—1
”u):k(ﬁ3)+2«k+4afza
2(1.2
—1
1(—1) = (—1)kk<k3) 2405 +4C, = 0.
oooooo
1
S _1k 2 2_1

(85)

(86)

cheb’gal.tex 00230 10230 (0O0O0O)



gbobobooodgobbod 4 DOOOOOOOOOOO 24

(b:—iﬂpﬁf+uﬁu?—n, (87)
1 k 2(1.2

Cr= 1t = VYRR — 1) = 72, (88)

Cy = 214[(—1)’f )RR — 1) — 12, (89)

423 0OO0O000O0OO0OO,0000000000

ggobobbuog,goobbbobouooob. ooog,obboobodao
20000,0000000010000000000O0DOODO.DOOO,

d*f df
1) = f(-1)= — = 2 =0.
FO=10=0. G5 =g =0 (90)
ooooon
¢k(1):1+03+02+01+0020,
or(—=1) = (=1)"=C3+Cy — Cy1 + Cy =0,
E2(k? —1
G (—1) = (=1)*k2 + 905 — 4Cy + Cy = 0.
ooooon
1 [1 1—(=1)*
- - 7]?2 k?2 1 1k+1k2 1
Cs = —g5 | K (¥ = 1) + (-1) , (o1)
C':—i%%H—lywipdﬁﬂﬁ—wiu—QJﬁ] (92)
2 48 16 32 ’
1 1 33
= k2K = 1)+ = (=DFE? — [ — (=1
L B k12 S e b Y
Co = gF* (K = 1) = To(=D"8 4 1= (~1)F] = S+ (=D (94)

424 0DO0O00O0OO0OOO,000O0O000000

gogobob,bddoooooboobobodoooo. oo, obbobood
1godb,buoogoboo 2000bb ouoooobbobooo.oboo,

al _ &
dx  da?

=1

(1) =f(=1) =0, =0. (95)

r=—1
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gogoodano
o(1) =14 C3+4+Cy+ Cy + Cy =0,
or(— 1)2( " 03+02 C1 4+ Cy =0,
¢, (1) = k* +9C3 +4Cy =
k2(k?
1(=1)= (-1 )(3>—2403+402+01:0.
gogoodno
1 [(=1)F 5 o, 1= (=1)*
— k“(k k
_ (_1)k 2012 972 3 k
Gy = = k(K = 1) k: + (1= (=, (97)
__(_1>k2 2 72_@ (L k
Cy T k2 (k™ —1) + 37" 64[1 (—=1)"], (98)
(—1)* , L33y " K
Co = KAk = 1) + ok? = L= (<1 = S[1+ (~D". (99)
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